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SQL> select d.deptno, sum(sal)
from dept d, emp e
where d.deptno = e.deptno and e.mgr is not null

group by d.deptno order by d.deptno;

DEPTNO  SUM(SAL)

10 3750
20 10875
30 9400

3 rows selected.
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SQL> select sql_id from V$SQLTEXT where upper(sqgl_text) like '%DEPT D, EMP E%';
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SELECT SUBSTRB(TO_CHAR(ID), 1, 3) || LPAD(' ', LEVEL = 2) || UPPER(OPERATION) ||
DECODE(OBJECT_NAME, NULL, NULL, ': '||OBJECT_NAME) || ' (Cost:' || COST ||

', %%CPU:" || DECODE(COST, 0, 0, TRUNC((COST — IO_COST) / COST * 100)) ||
', Rows:' || CARDINALITY [ ") " |l

DECODE (PSTART, ", ", "(PS:" || PSTART || ', PE:' || PEND || ')') AS "Execution Plan"

FROM (SELECT * FROM V$SQL_PLAN WHERE SQL_ID = 281)
START WITH DEPTH = 1

CONNECT BY PRIOR ID = PARENT_ID AND PRIOR SQL_ID = SQL_ID
ORDER SIBLINGS BY POSITION;

Execution Plan

1 GROUP BY (SORT) (Cost:23, %%CPU:0, Rows:4)

2 HASH JOIN (Cost:24, %%CPU:0, Rows:13)

3 INDEX (FULL): PK_DEPT (Cost:1, %%CPU:0, Rows:4)

4 TABLE ACCESS (FULL): EMP (Cost:23, %%CPU:0, Rows:13)
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SET AUTOTRACE OFF

D& Aug 20437 (default)

SET AUTOTRACE ON

D+ A9} trace HE (EXPLAIN, STATISTICS) 204
=7

SET AUTOTRACE ON EXPLAIN

D43 ARt trace ME (EXPLAIN) 20 F7|

SET AUTOTRACE ON STATISTICS

D 2% A trace ME (STATISTICS) 20 F7|
SET AUTOTRACE ON PLANSTAT

D8 Ae} trace M2 (PLANSTAT) 20 37|

SET AUTOTRACE ON EXPLAIN PLANSTAT

D4 ADS trace HE (EXPLAIN, PLANSTAT) 204
ZI| (M ZtX| trace & X 7t3)
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SQL> SET AUTOTRACE ON EXPLAIN STATISTICS PLANSTAT
SQL> select d.deptno, sum(sal)
from dept d, emp e
where d.deptno = e.deptno and e.mgr is not null
group by d.deptno order by d.deptno;

DEPTNO  SUM(SAL)

10 3750
20 10875
30 9400

3 rows selected.

SQL ID: 528
Plan Hash Value: 3266050601

Execution Plan

1 GROUP BY (SORT) (Cost:23, %CPU:0, Rows:4)

2 HASH JOIN (Cost:24, %CPU:0, Rows:13)

3 INDEX (FULL): PK_DEPT (Cost:1, %CPU:0, Rows:4)

4 TABLE ACCESS (FULL): EMP (Cost:23, %CPU:0, Rows:13)

Predicate Information

2 — access: ("D"."DEPTNQO" = "E"."DEPTNO")
4 — filter: ("E"."MGR" IS NOT NULL)

VALUE EVENT_NAME
2 db block gets
20 consistent gets
0 physical reads
0 redo size
0 sorts (disk)
1 sorts (memory)
3 rows processed

Execution Stat

1 GROUP BY (SORT) (Time:.03 ms, Rows:3, Starts:1)

2 HASH JOIN (Time:.02 ms, Rows:13, Starts:1)

3 INDEX (FULL): PK_DEPT (Time:.01 ms, Rows:4, Starts:1)
4

TABLE ACCESS (FULL): EMP (Time:.04 ms, Rows:13, Starts:1)
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select d.deptno, sum(sal)
from dept d, emp e
where d.deptno = e.deptno and e.mgr is not null

group by d.deptno order by d.deptno;

stage count cpu elapsed current query disk rows
parse 1 0.00 0.00 0 0 0 0
exec 1 0.00 0.00 0 0 0 0
fetch 1 0.00 0.00 2 14 0 8
sum 3 0.00 0.00 2 14 0 3
rows execution plan
3 group by (sort) (et=36, cr=0, cu=0, co=23, cpu=0, ro=4)
13 hash join (et=26, cr=0, cu=0, co=24, cpu=0, ro=13)
4 index (full) PK_DEPT(3456) (et=16, cr=1, cu=0, co=1, cpu=0, ro=4)
13 table access (full) EMP(3457) (et=50, cr=0, cu=2, co=23, cpu=0, ro=13)
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0{ &&= Predicate Information £&

Q| & database O Ci St dblink £ 0| &3st=
LEOM s SQL F2E EHF= Remote

SQL Information £&

select d.deptno, sum(sal)
from dept d, emp@In01 e
where d.deptno = e.deptno and e.mgr is not null

group by d.deptno order by d.deptno;

Execution Plan

1 GROUP BY (SORT) (Cost:23, %CPU:0, Rows:4)

2 HASH JOIN (Cost:24, %CPU:0, Rows:13)

3 INDEX (FULL): PK_DEPT (Cost:1, %CPU:0, Rows:4)
4 PROXY: LNO1 (Cost:22, %CPU:0, Rows:13)

Remote SQL Information

4 — SELECT QB_007."SAL",QB_007."DEPTNO" FROM "EMP" QB_007 WHERE (QB_007."MGR" IS
NOT NULL)

Predicate Information

2 — access: ("D"."DEPTNQO" = "E"."DEPTNQ")
4 — filter: ("E"."MGR" IS NOT NULL)
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Execution Stat

1 GROUP BY (SORT) (Time:.03 ms, Rows:3, Starts:1)

2  HASH JOIN (Time:.02 ms, Rows:13, Starts:1)

3 INDEX (FULL): PK_DEPT (Time:.01 ms, Rows:4, Starts:1)

4 TABLE ACCESS (FULL): EMP (Time:.04 ms,
Rows:13, Starts:1)

operation name (option) [: object name] (elapsed time,

output rows, recursive execution)
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rows execution plan
3 group by (sort) (et=36, cr=0, cu=0, co=23, cpu=0, ro=4)
13 hash join (et=26, cr=0, cu=0, co=24, cpu=0, ro=13)
4 index (full) PK_DEPT(3456) (et=16, cr=1, cu=0, co=1, cpu=0, ro=4)
13 table access (full) EMP(3457) (et=50, cr=0, cu=2, co=23, cpu=0, ro=13)
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table scan table off &2 (full scan/rowid scan)

index scan index Off ™ Z(full/range/unique/skip/fast full)

join 5 719l table Ol CHSF join & AM2|(hash/sort merge/nested loop/index join)
set &gt g4 X2l (union/intersect/minus/bag union)

project A2 =0|AHLt =27 expression A& X2

filter ZHEE AHdst] 21 row E E0l= &Y HE|

orderby 20 4

groupby Z2 I80 &35t row & 20t OF &4 A2l (sort/hash)
dml dml M2| (insert/update/delete/merge/multi table insert)
count rownum EF W42 row Bt SIHA|F|7]

connect by HE A Clolet XMzl

call ZZNN/Es BE

file scan o oY 2 Me

window analytic &= X2

buff SQL +¥ = XTE F7t Aaof| et H2 M

buff transformation SQL =¥ 5 7t Z3 H&F d HI2o| sk Ao

cube cube 7lsE 2IEt MEl

proxy/proxy dml Q|5 database Ol Cit dblink A 2|

sort aggregation aggregation &4 A

pe manager parallel execution manager

pe send parallel execution &7 Z1tE CtE slave O 27| (hash/range/broad/rr/qgc rand/qgc

order/index maintenance/partition)

pe recv parallel execution &7t ZA1tE CtE slave 0| A 7|
pe block iterator parallel 5tH table 2 & At Bt= =8 X2

pe index maintenance parallel dml Ol M index 224 &S gt XM
cache subquery 21} cache

inlist iterator in predicate gt= 3 X 2|

partition iterator partition gts 3 Xz

xml table xmltable() F+& A2

collector pipeline table A 2|

result cache a2l 23 & A cache XMz

for update select for update A 2|
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Finding Bad SQL Plan
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At) Top SQL by elapsed time
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Ab) Top SQL by executions
SQL #=¥ =Tt It B2 top 5SQAL
Zd He
Exec SQL +=¥ sl
Rows & sQL & ZIt row
processed
Rows/Exec SQL #d & Ed row &
Elap/Exec SQL #d & s Azt
SQL ID SQL ID
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sQL =d# 5 C
SQL

ol =
[=y

R block

st
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X Top SQL by 1/0

SQL #d & 1/0 AlZto| 7tE B2 top 5 SQL
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7} Top SQL by CPU
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Z3 0|& Z3 Etel 4493

SESS_ID NUMBER session ID

SERIAL_NO NUMBER session serial number
USER_NAME VARCHAR g% 7A O|F
WTHR_ID NUMBER Tibero work thread ID
SQL_ID NUMBER e ZWOl SQL ID
SQL_PLAN_ID NUMBER i S sQL E ID
OPNAME VARCHAR opeartion O|&

TARGET VARCHAR operation CH&H Z4x| 0|5
SOFAR NUMBER NaMmA s S
TOTALWORK NUMBER Yoz sde T Y
UNITS VARCHAR Aol He
START_TIME DATE e AIZE AlZE
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Lt 22 =32 H2E
o

E
SQLel §2& EA metg 47t Ut

SQL> select sal_id, sgl_plan_id, substr(opname, 1, 14) opname,
to_char(sofar/totalwork=100, 99.99) || '%' progress,
(sysdate — start_time)*24+60+60 elapsed_sec from v$session_longops;

SQL_ID SQL_PLAN_ID OPNAME PROGRESS ELAPSED_SEC

215 3 nested loops 3.37% 1955

1 row selected.
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FHE|/DML & = B2 =50 =t

17

TIBERO

cost gtol et SMS +ESt=H, OFA HS0T SQL
SUWS =HQlsts YOl Cis LOIEUL, H2ESH2=
TS0{Z sQL EHE A HE + Ucs dHE 2H5HRA
Cf.

%2 Z TiberoO| AASXAE0| SQL SEME H He|opA &

EMOIM HAS wHES Qo=

7120 &= AS0|1 0| V5= HIE2E A% 2FE
Z0[2 =2 o|of thet J=gt O[3l & 7IX= 0| %22 B

2 =&20| =2t dZEnt

defa, g=of of MM EHEX g2 HIEEHQ SQL
SHis Fdsts YHO thliM= HHE 2ME S
HEst=S st



18

TIBERO

© Copyright TIBERO 2012. All Rights Reserved.

= =M0M HMSste 7leH

=
MAEE TIBERO O 22eM, & &M= TIBERO | 5%

10| Efelof ol =X E= CHE 20, oH, SH2=

= odgAd 2o ofst

HHE AL B ED & gich

2 2ME 22X HEo XIS SHO= &1, 0|2
Q15 okl HEE wi ZEHE MYS KX Opl s,
2 2M40 82 TEE MBEAU B EE
NN SHE ZUS BIEATIE US HHHA
gech 2 2A9 8L MEQ YadolSL £Hof
mhet O LiZ0l o1 glo] MAT 4 Uom, 8o

Mo
x
rE
fol
iy
|0
=
o



